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(5 points; 5 minutes)
1. The heights of two professional basketball stars are compared. One is a woman who is 6 feet
2 inches tall. The other is a man who is 6 feet 10 inches tall. The population of all women who
play basketball professionally has an average height (uw) of 5 feet 11 inches and a standard
deviation (ow) of 2.5 inches. The population of all men who play basketball prefessionally has
an average height (um) of 6 feet 8 inches, with a standard deviation (om) of 3.3 inches.

Relative to their professional peers, which athlete is taller?
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(8 points; 8 minutes)
2. Based on the data set at the bottom of the page containing 80 values (8 rows of 10),
answer the questions in part (a) and part (b).
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(b) What is the value of the 44" percentile (Pas) ?
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(6 points; 5 minutes)
3. Based on the data set at the bottom of the page containing 101 values with the
associated graph on the next page, construct an approximate boxplot to represent
the data. Use the number line below to make your boxplot.
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Solution

Graph of the 100 values on the previous page. You can use this to help construct
the required boxplot if you want to do so.
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